Name:

Year 2 homework 08.02.24

Return by 15.02.24

£5
20p
£10
£5.56
£50

100p

Use the correct symbol to
complete the number sentences
( <>0r-= )

£13
18p
£11
£5.65
£40

£1

Remember croc always eats the
greater value.

I go to the shop with £1, how much change would I get if T buy?

ballf

73p 27p
Multiplication Numbots

5x2-= Bx 5 = 5x10 =

7x2 = 7x5= 7 x10 =

8x2:= 8x5H= 8x10=

10x2-= 10x 5= 10 x 10 = Can you complete a robot in

_ Numbots to gain a
9 x 2= 9x5= 9x10= certificate next week?

Complete 1

The paf
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